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I.  Preparation of 2-acetal-1,3-enynes 3a-3e’”’ — NMR spectra
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NMR spectra

(0]
(0]
(3f7)
|
|
A A S
T T 2 T T T
T T T T T T T T T T T T T
80 75 70 6.5 6.0 5.5 5.0 45 40 35 30 25 20 1.5 1.0 0.5 0.0
1 (ppm)
S v Y |

(3¢”)

T T T T
180 170 160 150 140 130 120 110 100 80 70 60 50 40 30 20 10

90
f1 (ppm)

65



B

:..h./r
mvnk

B
6L
e
T

e
608

96 6—

(38”)

-Z0'1

=001

45 40 35 30 2.5 20 15 10 0.

50

100 9.5 a0 8.5 8.0 25 7.0 6.5 6.0

10.5

S¥I0T—

LEREL
rire
EDRET
SERI—
u.ﬂ.H“\

oet—

st —

G5BT~

O/ /O

(38”)

—=

66



mﬂﬂ./

0¥
i

e
»O'E
90'E-
BOE

O/ N

(3h”)

I

ITe

Hore

=p0r1

Rt
.;w._ [ 4
2O

=00t

45 40 35 30 25 20 15 1.0 0.5 0.0

5.0

10.0 9.5 9.0 8.5 8.0 7.5 70 6.5 6.0

10.5

ET—

'

b DL~

BEZT
o'l
BTET
PERI—S
e

1965T—

1YWI—

SLWBI—

O/ AN

(3h”)

140

67



